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Verb structure in Hindi: - A Hindi verb is either object-taking (transitive
verb) or non-object taking (intransitive). In Hindi they are called the
Sakarmak kriya and Akarmak kriya.

o All transitive verbs can be made causatives (those that describe an action
which is initiated by one person, the subject and, but performed by another).
For e.g. “to open” and “to have [something] opened.” In Hindi we have the

expression ‘Gl AR AT’

o All intransitive verbs that do not take object cannot usually be made into
causatives.

VERB

Voice Moods Aspects Tenses
— = & —

Active Passive  Indicative, Subjunctive, Imperfective-habitual, Past, Present
& Imperative progressive continuous, & future
& perfective

For now we will concentrate on the basic aspects of attribute. Verbs in

Hindi usually occur in their infinitive form or “Na” (-1). The root of the
verb is identified by removing the Na. For example HcT-l means “going or
act of going,” (A1 means “to walk™); G means “seeing or act of

seeing,” (é@ means “ to see”); PRl means “doing or act of doing” (<
means “to do”). These infinitive forms can be regarded as verbal nouns.

Let’s look at the different forms of Hona (—Fﬁ:ﬂ) in the three tenses and these
are mostly used as auxiliaries with participles. Consider these to be some
rules for memorization! Remember that these can be used as it is or as
mentioned above. Most of them agree in gender and number.



Present (S) Present (P) Past (S) Past (P)  Future (S) Future (P
TE T E Taqrgr #HY  HEMST EHEN
q% qUEl  JA e gHd JEFTERT qH BN

| 26l
=Hll
TETEE JIAPE WA JIIq TEIREN J 99
q 2T

Regular conjugational pattern: - The main conjugational pattern for

indicative moods of present and past tense is done by replacing the Na ()
of the infinitive form to ta (dl). For example ATl to AT, @l to &
dl; and 2T to XAl with appropriate forms of auxiliary verb 2.

Look at these sentences in the indicative or habitual (general) present and
past.

DH FAE | H FAd & |

2) H AT 41 | § Tt 47 |
3) d FAAT & | J FeAT # |
4)d FATT 4T | J FAAT 4T |
5) 9 Feld B | J9 Tl & |
6) dH TAd & | IH FAT 4T |
7) AT TAS & | AT FAAT & |
8) TE FAAT & | T& A |
o) AT FA AT | I a1 AT 4
10) BH T & | B9 Tl # |
11)BH FAd 4 | B9 FadT 41 |

When we use the general case for present with a negative such as Nahin (-

ﬁ), then (qﬁ) usually precedes the participle. Sometimes auxiliaries are



dropped and in some case it is retained unless it is a case for strong for
negation. When auxiliaries are dropped the only distinguish characteristic
for feminine singular forms of the nasality is transferred to final syllable.
Let me demonstrate this to you as under:

Those women don’t speak Hindi. q AR Bl 981 9T | I AR Bl
& AT 7 |

Those men don’t speak Hindi. q AT el 981 Aol | F e B=ar |
2 I 7 |

2T can also occur on its own in the indicative present and past forms. Let’s
look at this example. Remember this! $<9 F<d AT 2 |

2) ST HE Bl & |
Q) 3T H T3 oot &Il 4T |

Let me stop here and now give you a basic verb list, which you would use
frequently while speaking. Can you make sentences using the vocabulary in
indicative i.e. general present and past with these verbs?

Verb finfinitives} English meaning (act of....)
2. T To come

2. S To go

ERRCICI] To eat

v YT To drink

4. Gl To play

¢. gadl To read

9. ]'%,r@:r[ To write

¢ BT To laugh

<.

T To cry

To beat, To strike

%




22 IMT To sing
22 T To bring
23. T To sleep
2% el To walk
g, BT To run
gg_gﬁﬁq'[ To speak

29. 91 F AT To converse
2¢ . Gehedl To catch

26 TR To do

20. PRAT To fall

22 35T To rise
W.THT To fear
PERGCE | To fight
Qgﬁ:ﬁ To give

O E) To take

2%, 3Gl

29, JEAT
. YT
QTR

20. 9T

22 % F=RAT
32, JAHI

To look, To see
To think

To understand
To say

To tell

To excuse

To call

We have so far looked at the general case of present and past. Let’s now
look at the continuous or progressive forms of present and past. The
progressive continuous aspect indicates that the action is still going on at a
particular moment, present and/or past. It is never habitual. In Hindi/Urdu

we substitute the progressive aspect marker “X&-l” agreeing with gender

and number and the auxiliary form of <FE 1t usually occurs before the

auxiliary forms of ‘@1, Consider the following examples.



1) Iamgoing.ﬁjﬂwg |

2) You are going. H Sl T2 A

3) We are going. &H [ TE

4) He/She/lt is going. ¥& d& ST FE|

5) Where is Sunita? She is sleeping. W FRE? AT L |
6) The girl is reading a book. C’iSC{’(i\I Tl Uc FEE

7) Gopal was smoking a cigarette. *[[4{t RITRE U &7 41 |

8) We were listening in silence. 8H UM I TG

9) Women were working on the farm. AR Gl § F1Y F2 ‘(é\l |
10) She’ll come right away. 98 G e e

Subjunctive and Future Tense: - Subjunctive mood in Hindi basically
indicates a subjective evaluation of the action as something the speaker
wants, wishes, would want or wish, supposes, presumes, considers possible,
fears or doubts. This mood comprises of: Potential and Presumptive aspects.

0 As the name suggests Potential indicates a possibility: of a action
occurring and/or not occurring. For example: I think he may come.

0 Unlike Potential, Presumptive suggests a greater certainty and is based on
the presumption that the action will occur. For example: I think he will
come. Note: (Not a tense but a mood).

Future tense: Morphologically in Hindi it is an integral part of the
presumptive aspect of Subjunctive mood system.

Let’s look at another diagram. I know you hate diagrams but this will put
things in perspective. Let’s look at the verb chalna.

Aspectless  Imperfective  Progressive Perfective
Potential T FAT & T & Al AT B

Presumptive =i FAT EPT TA FTEFT AT 26T




Aspectless potential: - It is simply formed by adding PN markers to the stem
of any verb. For example

TAT + 3 = F] , T + T = =ed, A1 + AT = FeAl, Forel + T = =ef
| EWI Potential for First person singular “I may go”

Z0 T Potential for First person plural “We may go”

dH Al Potential for second person plural “You may go”

AT Tl Potential for second person polite “You may go”

de dcll Potential for third person singular “he/she/it may go”

T 91 T Potential for third person plural “They may go”

Note: Verbs lena and dena have special contracted forms FI\?;{: dddrard

E

For example: Mom can we have an ice cream?

7 o1 B0 ATRGHY o ?

Dad can we give the beggar some money?

T 41 B9 TR 1 O & 7

For the following situations think what verbs you will use subjunctive
potential.

May I come in? T AR A3 ?

May we eat? BH U ?

May we go to a bar? B R AU ?

May be we can find some flowers in this store? 3 J&l 3 B et ?
May God give you peace ! W I 3l ¢ !

Hindi is not a tough cookie...over time you’ll realize the beauty and
sweetness of this language. Fine enough of hardsell let’s get to know how
future tense works. I’ll deal with other aspects later. To make it future all
you do is add ga to the subjunctive PN markers agreeing with gender and
number. For example,

FAT + JIM = T, will go (first person singular)

T + W1 = el will go (first and third person plural)

FAT + AR = TAPT, will go (second person plural used with fum)
FAT + W = ol will go (third person singular)



Think how you’ll say the following in Hindi.

1) I'will go to school tomorrow. T e hed T3 |

2) We shall work from tomorrow. 81 =hicel I FY F00 |

3) I shall have some tea. T &g 9y 3 |

4) How much will it cost? FFd= U TR0 |

5) I will give these books to Jaya. T Y Fde 30 CQII |

6) We will come to dinner at 7:00 pm. &H el 2MH Hld Tof feIR IR A |
7) When will you come? JH % AN ?

Now let’s think of progressive future. Like present continuous/progressive
all we do is add the aspect marker raha and the auxiliary verb form of hona.
Let’s look at some of the examples as above. This usually is in the potential
mood.

1) I will be going to school tomorrow. T heq =l ST AT @T |
2) We will be working tomorrow. &H el shlH =hi] & BT |

3) I shall be having tea. T = Ul ET 2T |

4) I will be giving these books to Jaya. T Y FFdM § | @T |

5) We will be coming to dinner at 7:00 pm. &H el Hld TA TR R AR
B0 |

Having seen the future aspect let’s look at the perfective aspect...believe me
this is what you’ll most frequently use in conversation, and come across in
your day to day life! With this you are done with basic constructions of
verbs in Hindi...Aip hip hooray!

Perfective and use of postposition Ne: - This aspect basically denotes a
completed action. In using a simple past perfective (referred by some as
indicative past) sentence where an action has been completed. For example,
to walk:

1) I walk § =T =l
2) You walk T Fell
3) He/She it walk & FAT Tl I8 FeAl Al

4) We walk &H T Al




5) You walk qH ol A9 <A Fedl
6) They walk T g T Al

Verb Regular Perfective form
To eat T ECIE2 1

To drink SIE] o=

To sleep g O

To go SIEI ST

To come T AT

To bring ICH IR

To play eIl g

To read g qal

To write ]%r@:[[ T

To laugh D DI

To cry AT M

To beat, To strike HqRAT HqRT

To sing AT ST

To run - To walk SISl - AT ag'[— AT
To speak SIGE AT

To converse qd F=3AT BIcRER
To catch gl qEgl

To do Eb—{q'[ B2

To fall - To rise PRAT - 3341 TRT - 331
To fear 340 ECl

To fight GEE G

To give - To take é’:[[ e &7 - o
To look, To see TG0 ECCI

To have, To keep T - ST 2 - W1

To think @'a':r[ @'a'[



To understand T Ju2n

To say, To tell FEAT / AT TR - T
To stay, live PESI PE|

To excuse HE T AT % /T
To like CIECH SRS

To call AT AT

For feminine forms: - Some of the regular and preferable forms of 3T, AT

7, S, 0, changes to Tl'é 311§ vilé, <Ié (ST, AT, o™, D
and in plural become TS, AR, E, VS (T, AT, A>T, ). X
- T & ().

In general past participles which end in — ST in the masculine singular form
their Fem by changing SH1 to Zor ‘% (pL.). Thus, foran ot o, feam @t &,
e =1 T, o g1

0 Usually the perfective aspect falls under three broad schemes: The
subjective scheme of construction where the verb agrees with the subject in
number and gender and one-way to conceive it is that it occurs with all
intransitive verbs. For example:

URA S 83T | India became independent.
TE JTEFA F 3A%0 | She got off the bicycle.
TE AT R F WA £ | She returned late today.
T e SAeal U 4T | Yesterday, I slept early.

The second scheme is the objective construction where the verbs agrees
with object and agrees in number and gender usually with transitive verbs
and the subject is placed in the oblique form with Ne (postposition). If a
verb has two objects then it agrees with the primary object and some
exceptions even if they are transitive. Consider the following examples:
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e A T Ul |
T F G G |
T =41 %1 97 |
T A 1 &1 oha o |

The third is neutral scheme of construction where a transitive verb, whose
object takes the ko (postposition), and the subject usually takes Ne. For
example:

T AT 1 9T SR W |
T < AEHT FT Te1 |/

AT | 200 TRl | B9 1 3T |

AT 9 92eT (921 IR |

Note: The verbs S<l, ISl I are considered intransitive and objects
of these verbs attach se which signifies from or with.

T el F S|

TE ST I T |

T o 92 e |

Also, to make it past perfective and/or present we add the auxiliaries of
hona to the verb in the end of the sentence.

Translate: -

1) What happened?
2) He came to my place last night?
3) The girl slept in the room upstairs (upstairs room).
4) We went to the cinema last week.
5) After sometime the women arrived.
6) What did you think about that girl?
7) I have been to New York City several times.
8) Has Usha returned?
9) They did a lot of work?
10)I saw a great movie.
11)We have heard that you are ill.
12)The teacher had told them something about India.
13)Who took my pen? Someone.



